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QUESTION 1

You are trying to determine why AutoSupport notifications are not being sent. Which two types of output would be used
first to solve this problem? (Choose two.) 

A. the MGWD.log 

B. the notifyd.log 

C. output of theautosupport history showcommand 

D. output of thenetwork interface showcommand 

Correct Answer: BC 

 

 

QUESTION 2

Click the Exhibit tab. 

Your customer\\'s MetroCluster controllers have generated AutoSupport notifications with a "DISK REDUNDANCY
FAILED" message. Referring to the exhibit, which component is causing the problem? 

A. the SAN switch site3_3 

B. the SAN switch site1_2 

C. the ATTO bridges on site3 

D. the inter-switch link (ISL) between site1 and site3 
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Correct Answer: D 

 

QUESTION 3

A customer is using DP SnapMirror replication between two clusters. The source cluster is using Clustered Data
ONTAP 8.2.3. 

Which two versions are acceptable for the destination cluster to be operating? (Choose two.) 

A. 8.1.4 

B. 8.0.2 

C. 8.3.1 

D. 8.2.3 

Correct Answer: AD 

 

QUESTION 4

A customer cannot create a new volume from OnCommand System Manager. 

Which two clustered Data ONTAP daemons would be at fault in this scenario? (Choose two.) 

A. secd 

B. bcomd 

C. mgwd 

D. v1db 

Correct Answer: AB 

 

QUESTION 5

Click the Exhibit tab. cluster::> network port show Node Port Ipspace Broadcast Domain Link MTU Admin/Open 

node1 

e0a Cluster Cluster up 9000 auto/1000 

e0b Cluster Cluster up 9000 auto/1000 

e0c Default Default up 1500 auto/1000 

e0d Default Default up 1500 auto/1000 

e0e Default Default up 1500 auto/1000 
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e0f Default Default up 1500 auto/1000 

e0g Default Default up 1500 auto/1000 

node2 

e0a Cluster Cluster up 9000 auto/1000 

e0b Cluster Cluster up 9000 auto/1000 

e0c Default Default up 1500 auto/1000 

e0d Default Default up 1500 auto/1000 

e0e Default Default up 1500 auto/1000 

e0f Default Default up 1500 auto/1000 

e0g Default Default up 1500 auto/1000 

A customer contracts you and asks for assistance in determining which ports can be used for a new broadcast domain
on a clustered Data ONTAP 8.3.2 system. The system is serving LUNs using the FC protocol and is in production. 

However, for Ethernet traffic, it is not yet in production. The customer provides you the output of the network port show
command. 

Referring to the exhibit, which ports will be eligible to create a new broadcast domain without impacting production
storage virtual machines (SVMs) serving FC LUNs? 

A. any port in theClusterbroadcast domain on node1 and node2 

B. any port on node1 

C. any port in theDefaultbroadcast domain on node1 and node2 

D. any port on node2 

Correct Answer: C 
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